
1) 68% of 43

Answer: ____________

2) Increase 130 by 1/26

Answer: ____________

3) Find perimeter of 
square having each side 
(s) equals 18 cm

Answer: ____________

4) 57% of 33

Answer: ____________

5) 2 ÷ 1

Answer: ____________

6) Decrease 60 by 40%

Answer: ____________

7)
Find the next three numbers in 
the sequence
1,0,0,-1,-1,-2,-2__,__,__

Answer: ____________

8) 92 - 36

Answer: ____________

9) Factorise j2 + 5j + 6

Answer: ____________

10) Find the median of the following set of data:

35, 8, 11, 23, 31, 3, 33

Answer: ____________

11) Write 8 x 10-2 as a normal number.

Answer: ____________

12) $490.00 earning 6% compound 
interest for 4 years.

Answer: ____________

13)
16

5 /10

Answer: ____________

14) Convert the following mixed number 
59/2 into an improper fraction.

Answer: ____________

15) Convert the following mixed number 
59/2 into an improper fraction.

Answer: ____________
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16)
64

10 /12

Answer: ____________

17) Round 21.193 to the nearest whole 
number.

Answer: ____________

18) Factorise f2 + 6f + 9

Answer: ____________

19) 54 - 38

Answer: ____________

20) Write 7 x 109 as a normal number.

Answer: ____________

Total: ___ / 20
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Answers:

1) 29.24 2) 135 3) 72cm 4) 18.81 5) 2 6) 36 7) -3,-3,-4,

8) 56 9) (j + 2)(j + 3) 10) 23 11) 0.08 12) $618.61 13) 4 14) 19/2

15) 19/2 16) 32 17) 21 18) (f + 3)(f + 3) 19) 16 20) 7000000000
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